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No. of Guestions : 150

Time :2 Hours ] [ Full Marks : 450
Note: (i) Attempt as many questions as you can. Eaat_—cg:._f{:srion carries 3 (three) marks.
One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.
(i) If more than one alternative answers seem to be approximate to the correct answer,
choose the closed onv.
1. The cell wall of diatom cells is rich in :
(1) Protein (2) Muramic acid (3) Silica (4) Galactoside
2. lodine is commercially obtained from :
(1) Gelidium (2) Ulva (3) Gracilaria (4) Laminaria
3. Which of the following classes of fungi shows highest degree of degeneration of
sexuality ?
(1) Phycomyces  (2) Deutromycetes (3) Basidiomycetes (4) Ascomyceles
4. Which among the following is called peat moss ?
(1) Pellia (2) Sphagnum (3) Funaria (4) Perelln
5. Microsporangia and macrosporangia are formed in the same strobilus of -
(1) Selaginella (2) Dryopteris (3) Equisetum ) Lycopodinm
6. Which one of the following algal pigments is soluble in water >
(1) Carotenoids  (2) Fucoxanthin  (3) Chlorophylis (4) Phycocyani
7. Which of the following fungus 18 the main source of vitamins ? o
(1) Rust fungi (2) Yeast (3) Bread Mould (4 S :
8. Sporogonium of Riccia is differentiated into - “Mutfung
(1) Seta and capsule (2) Foot, seta and capsi
(3) A simple capsule (4) Fool and sia D“{_thJr_:
9. When sporangia ir? a fern develop from a single inija] il it ;.
(1) Leptosporangiate (2) Busporangfe " Qlley .
(3) Heterosporangiate (4) Asporan ol
10.  Which of the following algal thallus is considered as higl,,

(1) Simple filamentous () Colonial ey
(3) Heterotrichos (4) Siphonaceou

(1)

PTO
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11, In which one of the following algae oogamous sexual reproduction is #of found ?

(1) Dictyota (2) Oedogonivm  (3) Chara (4) Zygnema
12. Which of the following is a fungicide ?

(1) Bordeaux mixture (2) D.D.T.

(3) 2,4-D (4) Amphicilin
13.  Elators are present in the sporogonium of :

(1) Sclaginella (2) Riccia (3) Marchantia (4) Sphagiuim
14, Amphiphloeic siphonostele is found in :

(1) Ophioglossum — (2) Marsilea (3) Pteris (4) Lycopodioin
15, lsomorphic alternation of generation is found in :

(1) Fritschiella (2) Vaucherm (3) Spirogyra (4) Volvox

16.  What is the mode of nutrition in Rhizopus ? o
(1) Autotrophic (2) Parasitic (3) Symbiotic (4) Saprophytic
17. In which of the bryophyte a highest degree of sporogenous tissue sterilization
is found ?

(1) Funaria (2) Riccia (3) Anthoceros (4) Marchantia
18.  Gametic meiosis takes place in :

(1) Polysiphonia (2) Ulothrix

(3) Sargassuni (4) Draparnoldiopsis

19.  Which one of the following spores of Puccinia is haploid ?
(1) Uredospore (2) Teleutospore (3) Aeciospore (4) Basidiospore

20. Heterothallismin fungi was discovered by : |
(1) Bessey (2) Robert Hooke (3) Saccordo (4) Blakeslee

21, Inbryophyles reduction division takes place at the time of :
. (1) Sex o3 an formation (2) Spore formation
m Camete o formation (4) Capsule formation
_‘1 Ji : .

ohyt?® ate 2 edible alga
2. 1 l\ ourceof alginate (2) Aneci &

4) A source of iodine
Hﬁ) m«nlxmuo\mﬂhl“ (4) | ‘
8 nreland was caused by massive attack of the fL}ngLis :
potato B o) arbugo (3) Phytophthora — (4) Ustilago
23. “
() Alle Ly fmous i the field of : |
Q }\w\\\ X (2) Bryology (3) I\-ﬂycolog}-' (4) Ptn‘?r;’d”;”f:y
H N }LL . L. . LI
s W plye o2 following wavelengths of visible light js absorbe by
wach ont 0 nent? .
5. \'\.\\. e \\\\ (2) 610nm (3) 660 nm (4) 540 nm

pi’l_\ _“\m
(1) i (2)
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Ocheate stipules are found in :

(1) Citrus (2) Ixora (3) Polygonuumn (4) Ageratum
Winged petioles are found in :

(1) Acgle (2) Argemone (3) Callistemon (4) Citrus
Which of the following is partial root parasite ?

(1) Striga (2) Parthenium (3) Loranthus (4) Nepenthes
Total number of series in Bentham and Hookers system of classification is :
() 19 (2) 21 (3) 15 (4) 24
Ligulate leaves are found in :

(1) Lihaceae (2) Zingiberaceae (3) Euphorbiaceae (4) Cycas

Flowers are unisexual in :

(1) Zingiberaceae (2) Cyperaceae (3) Euphorbiaceae (4) Rulaceae
Floral bud is modified into tendril in :

(1) Antigonon (2) Pisum (3) Coccinia (4) Bignonia
Which of the following is not true with respect to Asteraceae ?

(1) Syngenesious stamens, inferior ovary and basal placentation

(2) Monothecous anthers, superior ovary and axile placentation

(3) Syngenesious stamens, cypsella fruits and superior ovary

(4) Superior ovary, basal placentation and exstipulate leaves

Pentoxylon was discoveréd-by Birbal Sahni from :

(1) Nilgiri Hills (2) Rajmanal Hij|g (3) Western Ghats (4) Satpura Hiils
Cycas ovule is :

(1) Campylotropous (2) Hemianatropous
(3) Orthotropous (4) Anatropous
Birbal Sahni Institute of Palaeobotany is situated at :
(1) New Delhi (2) Lucknow (3) Dehradun (4) Bhubaneshy
Stevia rebaudiana a natural sweetner plant, belongs to family : S
(1) Asteraceae (2) Solanacege (3) Poaceae ' @) Api
Branched stamens are found in - placeae
(1) Triticim nfsffz'uqr (2) Calotropis procey,
(3) Ricinus communis (4) Solanum lll.'ﬁ'f'!!fn
Which type of embryosac is found in Allium ?
(1) Monosporic type (2) Bisporic tyy
(3) Tetrasporic type ) Pﬂlygonu}npe
ln anglosperms, embryosac represents
(1) Megagametoplyte (2 Megaﬂpom}
(3) Megagamete ¢ "AShore
(3)
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Cortical vascular bundles are found in

(1) Salzadora (2} Achyranthes (3) Nyctanthes (4) Boerhavia
Perisperm in the seeds develops from:

(1) Nucellus (2) Funiculus (3) Hilum (4) Ovary wall
Pollination thra'zugh lever mechanism takes place in : '

(1) Calotropis (2} Salvia (3) Ficus (4) Hydrilla

Sunkened stomata are found in :

(1) Pinus needles  (2) Cycas leaves

(3) Guetunt leaves  (4) Cyeas corolloid roots

Trimerous flowers, superior ovary and axile placentation is found in :

(1) Solanaceae (2 Liliaceae (3) Cucurbitaceae (4) Asteraceac
Tricarpellary, syncarpous and ferior ovary is found in :

(1) Asteraceae (2) Cucurbitaccae (3) Liliaceae (4) Poaceae
Winged seeds are found in

(1) Pinus (2) Cycas (3) Papaver (4) Adhatoda

Parachute mechanism of seed dispersal is due to:
(1) Bracts (2) Pappus (3) Tepals (4) Thorns

The endoqpvrm of Piitusis - |
(1) Triploid (2) Haploid (3) Diploid (4) Tetraploid

Gynobasic style is found in the family :
('l') Ranunculaceac (2) Papaveracea'e (3) Apiaceae (4) Lamiaccae
"Rate of change of number of species per unit change in habitat” is known as
(1) Alpha diversity (2) Beta diversity (3) Gama diversity (4) Biodiversity

Which of the following has been recognized as a mega diverse country ?

(1) New Zealand () Austria (3) Australia (4) Nepal
oav DTL‘HLntq . ] |

Taig N k‘heq aniferous forests (2) Temperate grassland
y or _ . o

(h Jcate deciduous forests (4) Savannah grassland

f\["f“k
13 1 (oo is submereed hydrophyte ?
rthe following 15 ¢ ged Nydropiyte :

WhiCl\ 0 Q) Axolla (3y Vallisneria (4) Lenima
1 ” ||r'\ x_ i la
K\\ Ut oiodiversity is found in:
n 1nd"u A 1:1“ _plain (2) Western Ghats
- yoh1C . ; et — .
(1\1 (Gangs h\'\m\ ran region (-H Fastern Ghats

(“ﬂ Tram” \noom "is used to refer
\ o el

- ¥ 3 » 3 )
The Lorm N m)i temperature lolerance
\ Nart® \ ‘,alm, y tolerance
S L Tangd
\ el 5 food sclection
k wa Stlection

Nar?’ (4)
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Which of the following causes the Itai Itai disease ?

(1) Hg (2) Cr (3) Pb (4) Cd

The average salinity of sea water is :

(1) 35% (2) 3.5% (3) 5.3% (4) 0.35%

The term "aufwuchs" is used to refer :

(1) Plankton (2) Nekton (3) Neuston (4) Periphyton
Which one of the following is a water borne disease ?

(1) Small pox (2) Cholera (3) Malaria (4) Tuberculosis
Marginal necrosis and tip-burn in leaves is a diagnostic symptom of :

(1) SO2 toxicity (2) NO: toxicity

(3) Ozone toxicity (4) Fluoride toxicity

In PMa s suffix 2.5 refers to

(1) Size of particulate matter in micron

(2) 2.5 fold higher toxicity of particulate matter

(3) Threshold limit of toxicity of particulate matter

(4) Effective concentration of particulate matter

The process of podsolization generally occurs in :

(1) Cold humid climate (2) Cold dry climate

(3) Dry tropical climate (4) Tropical rain forests

Which of the following form of soil water is most commonly available for plant
growth ?

(1) Hygroscopic water (2) Gravitational water

(3) Capillary water (4) Echard water

In an ecological succession "the ' > mi :
themselves is the new place” is knoxifxocf:s:’s P il the migrants estabish
(1) Nudation (2) Migration (3) Ececis
Climax stage 1s predominantly characterized by -
(1) High entropy '

(2) K-selection lype species

(3) Species with broad niche specialization

(4) Open nutrient cycle

(4) Aggregation

Which of the following pair is correctly matched ?

(1) Sulphur dioxide - Teeth

(2) Fluoride pollution - Bhopay Ras frﬂgedy

(3) Methylisocyanate - Acid rajp :
(4) Ozone deplevion - Skin cancer

(5)
ATo
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68. J-shaped population growlh curve is not found in:

(1) House fly (2) Cassia tora
(3) Elephant (4) r-selection type species
69. The total energy trapped by plants ina given time and space is known as :
(1) Gross primary pmducti\-’il'y (2) Net primary productivity
(3) Ecological efficiency (4) Turnover rate
70.  Which of the following is the most common pattern of population dispersion ?
(1) Random (2) Contagious (3) Regular (4) Uniform
71.  Acid rain has pH :
(1) <7.6 (2) <7.0 (3) <5.6 (4) <1.6
72.  The "continuum’ concept of vegetation organization 1s also known as :
(1) Individualistic approach (2) Zonal approach
(3) Typal approach (4) Organismic approach
73. For narrow leaves, the value of Kemp's constant is
(1) 0.6 (2) 09 (3) 6.0 (4) 9.0
74. Which National Park is situated in Uttar Pradesh ?
(1) Jim Corbett National Park (2) Dudhwa National Park
(3) Gir National Park (4) Kaziranga National Park
75.  [na water bodv, algal bloom is an indicator of
(1) Nutrient enrichment (2) Oligotrophic COI‘[L’J.JLIO:)
(3) Pollution due to pesticides (4) Pollution due to metals

76. A plant growth regulator relaled to inhibition ({f s'el?esce'n{cc s
7 Abscisic act
(1) Ethvlenc () AE;:;]:m; ;cid
(3) Jasmonic acid (4) i
: : ~emoglobin in sdules of lecuminous plant is
77.  Function of leg haemoglobin in root noc los of Dl ! .\Tp}. e
. (1) To prevent respiratory 02 uptake  (2) o induce f synthesis
(‘%) To transfer electrons to N2 (4) Toremove O»

- [ --I - - . - ey [ . 11 tL) :
L esure deficit of a fully turgid cell is eque
78, Diftusion presst ( . .

(1) Zero

(2) Turgof pressure of cell

.:'1'\:' Qum-ntic p.x‘L‘SR\\\'L‘ of cell
{_'\_ L

- ressures of the cell
L of turgor and osmolic pressures® the cc

) A ) _\'i‘d\; ~ . . .
T (oflowing group i codons is meant for the termination of
. . e ' ot
which 5 Shtide chain ? ‘ .
‘-_| ) - ! _:ri 1 N A f [
(” AU/ ’(LEC AA (4) UAA,UA, b(-’f”\
F A ALY,
ey U A

R} \ o (6)
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80. The technique and experimental organism used by Calvin for ‘Calvin Cycle
were :
(1) X-ray technique and Chlamydonionas
(2) Radioactive isotope technique and Volvox
(3) Radioactive isotope technique and Chlorella
(4) Nuclear magnetic resonance technique and Spirogyra

81. A pigment concerned with both floral induction and seed germination is :

(1) Florigen (2) Chlorophyll  (3) Plastocyanin  (4) Phytochrome
82. The bacterial genera carrying out nitrification, nitration, asymbiotic and

symbiotic nitrogen fixation, respectively are :

(1) Rhizobium Azotobacter, Nitrosononas and Nitrobacter

(2) Nitrosomonas, Nitrobacter, Rhizobinum and Azotobacter

(3) Nitrosomonas, Nitrobacter, Azotobacter and Rhizobium

(4) Nitrobacter, Nitrosononas, Azotobacter and Rhizobim

83. Theorganic acid which plays a key role in the synthesis amino acid is :

(1) Pyruvic acid (2) Malic acid

(3) a-Ketoglutaric acid (4) Oxaloacetic acid
84. The terms/apoplast' and symplast’ were used for the first time by :

(1) Dixon (2) Clark (3) Munch (4) Ficher
85.  Insplit genes, the coding sequence is called :

(1) Sistrons (2) Operons (3) Exons (4) Introns
86. Which of the following molecule has both o 1-4 and ¢ 1-6 hnkag@: ?

(1) Maltose (2) Celluloge (3) Amvlme (4) Amv]opedr'a
87. The pathway that converts fat to carbohydrate is : i

(1) Calvin pathway (2) Glyoxylate pathway

(3) Ci pathway (4) Glycolate pathyay,’
88.  Which of the following plant is an example of short day plant

(1) Mirabilis jalapa (2) Beta vulgaris

(3) Xanthium strumarium (4) Lycopersictm escitfons
89. Which of the followi g nutrient elements is most mobile in Wiam-:{:”

(1) Phosphorus (2) Potassium (3) Calcium @) M
Mag

. Ane e : , nesj
90. Which of the following enzyme is a mjtochondrial marrey >ium

(1) Aldolase (2) Amylase NZyme >
(3 Succinic dLh\ drogenase (4) P‘y'ruva te deh}
[ - < Vq .
91, Inchloroplast, "ATP synthase is Jocated in - &eNas
(1) Inner membrane (2) Outer menra,,
(3) Thylakoid menpranc (4) Grana

(7)
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92. j?il“ ja g\‘“ pathway, The ATP 1s produced through :

(1) Oxidati * OO 1 ~ - SO 5 -

”wj 5115t;‘31 ’? i:\; :i }:1}::_‘::;;}\?:\:;;h(m E‘—;; ?’l:(tilg P; ho‘sﬁ}hor"}l’l‘f'}{j )

) . phosphorylation

a3. }‘\ hich of the following pigment is soluble in water ?

(1) Carotenoids (2) Chlorophylis (3) Phycocyanin  (4) Xanthophvylls
94. »L\ptarnw: are -

(1) RNA molecules (2) DNA (3} Protein (4) Amino acids
95. In photosynthetic electron transport, the herbicides like DCMU and dimethyl

urea inhibit electron transport between :

(1) Peg and Ubiquinone (2) Cytochrome fand Plastocyanin
(3) 1 1aumm11mme and Cytochrome f  {4) Ubiguinone and Plastoguinone

96.  Which of the following enzymes initiates DNA replication ?

(1) DNA polymerase | (2) DNA polymerase 11
(3) 1DNA polvinerase I (4) RNA polymerase
97. The pept‘id\.'l transferase enzyme 1s an integral part of which unit of the
ribosome :
(1) 3us (2) 705 (3) 505 (1) A site of 305

98. Cellulose is polymer of :
(1) a-1-Glucose (2} p-D-Glucose (3) D -Glucose (4 B-L -Glucose

99. Glutathioncisa:
1) Dipeptide (2) Tripeptide
(3} Monosaccharide (4) Disaccharide

100. Ethylene is produced fromamino acid : -

(1) Methionine (2) Tryptophan  (3) Tyrosine (4) Serine

101. A mutantof E- coli grows novmally on glucose or on gi}’CPr(-)1 but not on acelate.
The most 11 ikely metabolic pathway that is defective in this mutant is -

cle (2) Hexose monophosphate shunt

Gly O\d}f‘rL cy . _
() (4) Enter-Duodorolf pathway

\I l\reb'ﬁ L\ L

i ‘hich P‘n’l% of bacterial growth bacteria increases in size but do not
~Ador W
102. Unger

divide ? (2) Log (3) Stationary (4) Death phase

1y Lag

(1) L% _» nay be methods for the inhibition of microbial growth by

Ol Low A

MII' \'\\_L‘ 1 ”;,
\03' Abio wics e% Jmupt cell wall synthesis
al
AR t‘\“ot. - perfece with cell membrane function
L1 \.\\U\ \ I A f z\.[
\ \"\“ vent the release of energy from
A
\~) AN \\\“ \co mhf the synthesis of protein

(1

\“

N N
@ AT (8)
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104. A bacterial culture contained 32 % 10° cells after 2.5 howrs of expum.‘n_ra::l
growth. [f the doubling time was 30 min, what was the initial population
number in this culture ?

(1) 20 x10%cells  (2) 10 x 10° cells (3) 40 x 10%cells  (4) 16 x 107 cells
105. Genomeof HIVis:

(1) ss DNA (2) ss RNA (3) ds DNA (4) dsRNA
106. A T-series bacteriophage can be recognized by its

(1) Tadpole shape (2) Rounded shape

(3) Irregular shape (4) Rhomboidal shape
107. Bacteriophage that lyse the bacterial cell shortly after infection are termed as

(1) Systemic (2) Virulent (3) Immune (4) Temperale
108. Endosymbiotic evolution is supposed to be occurred for :

(1) Chloroplast (2) Mitochondria

(3) Golgibodies (4) Both chloroplast and mitochondra
409. Becteroids is a special form of bacteria involved in:

(1) Photosynthesis (2) Nitrogen fixation

(3) Respiralion (4) Photorespiration

110.  Which of the following is/are correct about Azotobacter ?
A. ltis free living nitrogen fixing bacteria
B. Itisasymbiolic nitrogen fixing bacteria
C. Itis obligate aerobe
D. Itisobligate anaerobe

(1) Aand C (2) Aand D (3) Only C (4) OnlyB
111, No. of binding sites for 0> molecules in a single leghacmoglop; ‘

(H 1 (2) 2 3) 3 - (4“ ﬁ?{'JI(JCtth* :
112. The final stage of alcohol production is KNOWnN ag . )4

(1) Fermentation (2) Refinement (3) Proofing (
113. The intoxicaling substance in beer, wine and liquor is Y Distillation

(1) Ethanol (2) Phenol 3

. 3) ISOPTOPY-.”COJ‘N (4
114. The first known antibiotic is : ) Meg,

ano|
(1) Chloramphenicol (2) Kanamycin (3) Peniaillin-C

115. Best medium for production of penicillinis : (4) Pe”j(j”in-]?
(1) Nutrientagar (2) Cornsteep lig
(3) Sulfite waste liquor (4) Whey

116. In industrial production  of streptomycin  the secondar
by-produd 15 ;

1) Vitamin 12 (2) Vilamin C (3) Viaming 4)«%1;;“

(9) '

Or
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117.

5_1};{‘ Itlf 11‘“\ :‘;lusjildi:ﬁ’g :(:}\ 1.?1311(:;0121? those produced by Ustilago because -
(2) It parasitizes cereals
(3) The host becomes completely black
(4) Thef tungus produces black SO0ty spore masses
118. T‘” get board effect’ is caused by :
(U Alternaria (2) Colletotrichum (3) Pyricularia  (8) Helminthosporim
119, Plant disease Papaya mosaic’ is caused by :
(1) Bacteria (2) Virus (3) Fungi (4) Mycoplasma
120.  Heterothallism means :
(1) Fusion of thalli of same strain (2) Fusion of thalli of different strain
(3) Formation of zygospore (4) Formation of conidia
121, Which disease in plants is caused by bacteria ?
(1) 'Die-back'i N citrus (2) 'Tikka'in groundnut
(3) "Leaf curl in tomato (4) ‘Stemrol’ in maize
122. A condition of overgrowth or excessive development of an organ or ils parts
'ua‘uallj; due Lo infection by a pathogen is -
(1) Hypotrophy  (2) Atrophyv (3) Hyperplasia  (4) Hypertrophy
123. The fungicide ‘Bordeaux mixture’ was discovered by :
(1) . Martin (2) A.Millardet
(3) C. A. Peterson (4) S.D. Garrett
124, Ph\toﬂt‘\ ine are formed in plants : e o
) After nmg‘?} infection (2) Betpr_e tunlga} 1'nrect1<m
(3) On Iunam contact with plant (4) Allofthe above
N Hlowing, the fungicide that is systemic s | _
125. Oi the ¢ (3) Blue-copper- 50 (3) Indofil-45 (4) Sulfex
HH} b;\};::ﬂ mode! tiat 1S proposed to explain the structure of plasma
CooLhe Rddieer
28 membrane \rmemdel (2) Fluid mosaic model
(1) Unit wem 7O QAoystem (4) Thin lipid layer concept
(3) Artficia . _Cwing; stages of cell division the DNA content is doubled ?
- m hich of (2) Interphase (3) Metaphase (4) TG]OPhElRL‘
' ) Py O‘Qha Al cell cycle
fo8. T MM‘TL @) 6,$.6.M () S6, MG @) MG,
' (1) &V pyrimidine nucleotide by a purine nucleotide s S known e -
s onlacerion mutation (2) Frame shift mutation o
129. \‘f\! : ”mﬂathﬂ (4) Transition nutation

(1

1) P (10)
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Turner's syndrome is due to :

(1) Monosomic chromosome (2) Trisomic chromosome

(3) Polysomic chromosome (4) Bisomic chromosome

Allosomes are :

(1) Rounded bodies (2) Type of protein

(3) Sex chromosome (4) Node like structure on-chromosome
The cross of £, hybrid with either its dominant or recessive parent is known as :
(1) Test cross (2) Back cross

(3) Reverse cross (4) Polygenic inheritance

Which is the characteristics of Euchromatin ?

(1) Small (2) Light stained

(3) Tightly packed (4) Inactive in transcription

Which one of the following is alkylating agent ?

(1) 5-Bromo uracil (2) 5-chloro uracil

(3) Hydrazine (4) Ethylethane sulphonate

Which histone is known as linker histone ?

(1) (2) HoA (3) Hs (4) H

Which statement is 1HCOTrect ?

(1) The genetic maps of chromosomes are based on the average number of
crossovers that oceur during meiosis.

(2) Genetic map distances are estimated by calculating the frequency of
recombination between genes in experimental crosses, |

3) For small map i 5 (<2 > ' ' '

) o small map intervals (<20 cM), the map distance equal the frequency of
a single crossover in the interval. ’

(4) The expected frequency of double crossovers ig C

. alculated on the
assumption that the two crossover occuir dependently.

Anastral mitosis is characteristics of :
(1) Allliving organism

(2) Higher plants
(3) Lower animals

(4) Higher animals

The phenomenon of masKing the expression of
gene is known as:

(1) Mutation (2) Epistasis (3) Heterosis
Bar eye in Drosophila is due tq - |

(1) Duplication (2) Deficiency (3) Inversion )
The phenomenon of heterosis is - Transfoc ation

(1) Structural hybridity (2) Hybrid serjj;
A TTvdarid 3 ibilitv l !
(3) Hybrid incompatibility (4) Hybrid V'goul,y

(171)

4 8eN€ by another non alleljc

(4J Dominancc
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141, Cvtoplasmic male sterility is inherited :

(,1) Paternally (2) Maternally

(3) Bacteriophage multiplication (4) Paternally: and Maternally both
142, A gene which synthesizes a repressor protein is known as :

(1) Regulator gene (2) Operator gene

(3) Promoter gene (4) CAP
143.  Which of the following is not related with karyotype ?

(1) Number of chromosome (2) Size of chromosome

(3) Chemical nature of chromosome  (4) Shape of chromosome
144,  Who wrote the famous book 'Origin of Species ?

(1) Lamarck (2) Charles Darwin

(3) De Vries (4) Mendel
145. XX-XO type of sex determination is found In:

(1) Hen (2) Cock (3) Grasshopper (4) Ruinex sp.
146. The most important use of haploids in the production of :

(1) Homozygous diploids (2) Heterozygous diploids

(3) Amphidipioids (4) Segmemalallopolyph)ids
147. Raphanobrassica is an example of :

(1) Haploid (2) Diploid |

(3) Autopolyploid (4) Allopolyploid

148. Which statement is incorrect for multiple allelism ?
(1) Eve colour in drosophilla is an example of multiple allelism.

(2) ABO blood groups in humans is due to multiple allelism.

(3 It follows Mendel's concept of inheritance. |
54) Skin colour in rodents may be explain by multiple allelism concept.

149. Meiosis involves :
(1) One di vision of nucleus
(2) Two division of nucleus and one divi ‘
2 , division of nucleus and two division of chromosome

3) One , . .
( ) Two division of nucleus and two division of chromosome
(1) Twi =

e one of ihe following is not characteristics of monohvybrid cross ?
150, WhIChORE ™ iween (wo pure organism in order to study the inheritance of

/ iq a Cro
(1) e ? pairof alleles.

and one division of chromosome
sion of chromosome

Anoie L. . . i
asiie wpic ratio in f, generationis 9:3 SERS
-y Y - ; . . - ry .
(2) Phent ;s genOLYpIC ratioof1:2:11n/ generation.
) aQuee= t : _ -
(3) WP the inheritance of a single trait.

(4 I St

(12)
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